Logic Puzzle - A Matter of Choice

Regardless of growing up together, the four Murphy brothers couldn’t be less alike. Now adults, each of
them has a favourite pub different from that of his brothers, drinks a different beer, and prefers a different
flavour of crisps. Can you determine what the preferences of pub, beer and crisps are for each of the

brothers?
1. The one who favours Dolan’s Pub doesn’t like sour cream & onion crisps.
2. Between Ciaran and the person who drinks Kilkenny, one goes to O’Donaghue’s Pub and the
other likes cheese & onion crisps.
3. The person who likes sour cream & onion crisps is not Ciaran or Eoin..
4. The one who goes to O’Leary’s Pub is Denis.
5. The one who drinks Bulmer’s Cider doesn’t like cheese & onion or salt & vinegar crisps.
6. Either the one who drinks Guinness or the one who drinks Kilkenny’s is Ciaran.
7. The person who likes salt & vinegar crisps does not drink Guinness.
8. Ciaran does not drink at O’Malley’s Pub.
9. The one who drinks Guiness is not Ryan or Eoin.
10. The one who drinks at O’Leary’s doesn’t like Guinness.
11. The one who drinks Bulmer’s Cider doesn’t like barbeque crisps.
12. The person who likes barbeque crisps is not Ciaran.
13. The person who drinks at O’Leary’s always eats salt & vinegar crisps.

Use the table below to help record your clues and solve the puzzle.
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